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=
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=
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=
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=
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=
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=
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=
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=
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3-2 BAREEREE-BIR .00 746, 164. 00 746, 164
3-3 2 7HRER .00 198, 192. 00 594,576
3-4 aTF7HER-EH .00 234,318.00 702, 954
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—RERESE 17,026,101 x 53.85% ( 35% + (1 — 35%) ) — 4,656 9,163, 899
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FEIZRE 39, 765, 000




Bffik-fEI/\vr—>

#S : 1-1
27 : BEHE 12&Y
% 7 1A - R R E g g @ i W =
EFEHED
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A 8.91 40, 600. 00 361, 746
AR (C)
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g
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A 3.00 40, 600. 00 121, 800
AR (C)
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A 3.00 40, 600. 00 121, 800
AR (C)
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& Hi VEZERED ¢ 1. 0075 898, 000. 00 898, 000
T EE L
FHE—IEWE Tl
&S 1-11
£ FERBRERFET WIEHIA—/—L 1) 14y
2 b g - BIRTE By = BHO(f ) # " =
FEHER
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A 0.76 65, 500. 00 49, 780
FEHER
A 4.33 57, 400. 00 248, 542
FEHER
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T EE L
FHE—REMWE : TL
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BT rZ9Y 2t1E#R

= 1.00 35, 269. 00 35, 269
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& Hi 1YEZHED 1. 00 FRr 234, 318. 00 234,318
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AT 1.00 40, 900. 00 40, 900
& Hi 1YEZHED 1. 00 FRr 40, 900. 00 40, 900
HRARHES VY 1 MBS (o) :1.65 AR (B) :1.20
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